

HA Generalization of the Wang-Qin's Identity

M. Morales-García and J. López-Bonilla

ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 4,
 1er. Piso, Col. Lindavista CP 07738 CDMX, México

Abstract: We give a generalization of the Wang-Qin's relation involving invariant and inverse invariant sequences.

Key words: Binomial transformation • Wang-Qin's expression • Invariant sequences

INTRODUCTION

Chang-Fu Wang (1992) conjectured that [1]:

$$\sum_{k=0}^n \binom{n}{k} (-1)^k a_{k+2} = a_{n+2}, \quad n \geq 0, \quad (1)$$

for the sequence:

$$a_n = (-1)^n \int_0^1 \binom{x}{n} dx, \quad (2)$$

later, Hou-Rong Qin proved the conjecture.

Here we show the following generalization of (1):

$$Q \equiv \sum_{k=0}^n \binom{n}{k} (-1)^k a_{k+m} = (-1)^m a_{n+m}, \quad a_n = (-1)^n \int_b^c \binom{x}{n} dx, \quad m = b + c + 1, \quad (3)$$

where b and c are arbitrary integers.

In fact:

$$Q = (-1)^m \int_b^c \sum_{k=0}^n \binom{n}{k} \binom{x}{k+m} dx, \quad (4)$$

but we have the properties [2-4]:

$$\sum_{k=0}^n \binom{n}{k} \binom{x}{k+m} = \binom{n+x}{n+m} = (-1)^{n+m} \binom{m-1-x}{n+m}, \quad (5)$$

then from (4), (5) and $m = b + c + 1$:

$$Q = (-1)^n \int_{m-c-1}^{m-b-1} \binom{y}{n+m} dy = (-1)^n \int_b^c \binom{y}{n+m} dy = (-1)^m a_{n+m}, \quad q.e.d.$$

Thus, the Wang-Qin's identity (1) is a particular case of (3) for $b = 0, c = 1, m = 2$.

If $b = -1, c = 0, m = 0$ we obtain that $a_n = (-1)^n \int_{-1}^0 \binom{x}{n} dx$ and (3) implies the relation:

$$\sum_{k=0}^n \binom{n}{k} (-1)^k a_k = a_n, \tag{6}$$

that is, $\{a_n\}$ is an invariant sequence [1].

REFERENCES

1. Zhi-Hong Sun, 2001. Invariant sequences under binomial transformation, *The Fibonacci Quart.*, 39(4): 324-333.
2. Gould, H.W., 1972. *Combinatorial identities*, Morgantown, W. Va. (1972).
3. Riordan, J., 1968. *Combinatorial identities*, John Wiley and Sons, New York (1968).
4. Quaintance, J. and H.W. Gould, 2016. *Combinatorial identities for Stirling numbers*, World Scientific, Singapore (2016).